Seminar Exercise ECON 4925 7-11-05

Fishery economics

1. Explain the effort function for harvesting used in fishery economics by means of production theory. What is the role of the stock of fish?
2. Derive the cost function for harvesting

3. Assume identical fishing boats. Let the number of boats be N. Explain the dynamic equation
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where p is the given price of fish, Hi is the catch and 
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is the catch cost 
function.

4. Discuss the biological-economic steady state equilibrium in a fishery with open access using the relation above.

5. Draw a diagram for the steady state equilibrium using the catch cost function above and using the discussion in 4.

6. Jens Warming (1911) considered two fishing grounds for the same type of fish with the aggregate catch functions
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 where Li is the number of fishermen harvesting ground i, and the gear cost function 
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. Warming assumed that the fishermen had an alternative employment possibility on shore giving the wage level w. Discuss a possible equilibrium situation with open access to both fishing grounds assuming the price of fish to be given.
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